Part-1/9m-1
Compulsory / aAfard

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their

individual need.

(C) To provide them equal opportunity
to grow.

(D) To behave with the students equally
without any discrimination of caste,
gender etc.

ST - 37TeTH <hl Tfshan | =1 99T & 2

(A) T B & Y THM TR AT |

(B) STeh! SAfeRITTd HATERIhell b IFHAR
378 TERIA 9EH LT |

(C) 3= forehTd & THM 319 YgH T |

(D) Sfd, e 3mfe < wewra = fomr s
o H1Y FHH STIER HLAT |

The primary task of a teacher is

(A) To stimulate, motivate and guide :

students’ learning.
gg To teach good habits in students.
textbook units.
(D) To satisfy the expectations of the
principal, parents and society.

T TR187h T T

(A) BT o AR 1 Fiearfad, I 3T
T |

(B) BT ol 7=t 3T g |

(C) Fuifd  digashs 3 UTgAgEH

%1 TGHT |
(D) JaHEE, AE-Udr 3R ga 6
YT 1 I BT | (A)

What is the level of the following questions ?

like — ‘Prepare a diagram on ... ,
‘Explam the components / parts of ........ ) i

‘Conclude the characteristics of .......
(A) Understanding level
B) Analysis level
C) Creativity level
D) Application level
Smg FIERFATE ?

05 (Economics)

To teach the prescribed syllabus and |

4.

6

was the educationist who gifted
Kindergarten Education System to the

World
Gijubhai (B) Dewey
C Herbert (D) Froebel
Terewmre favet yomeft w51 SuER feam an|
(A) Tﬂ—sms‘ (B) et
(C) &I (D) Whisid
MOOCs must contain the four quadrants
1E)er SWAYAM guidelines.
ich of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), = self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audlo) self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certlﬁcatlon

SWAYAM % foan-faden & 31gan
MOOC T 4R =gafyr g4 =fge |
ﬁwl%i%aﬁﬁaﬁqwsﬁa@aﬁﬁﬁﬂﬁ
T 3T TR

(A)émﬁw@%ﬁ) 3-SR (TS

qrft), T -edTehd qhET, HATers
== 79 (BRA)

(B) -3 (Yad4 dmft), 3-TFIEd
(fifen), maﬁw(qﬁm),
- AT qEu

(C) 3-ea2 (Y3 dmfl), 3-TgeIfera
(aﬂ%ﬁ)qéza@fwa(w%ﬁ) -

(D)ée;e@f(amaﬂ%aﬁ) -3 (T
gmfl), e == g9 (BRE),
STEH JeAreh 3T JH0=

Plagiarism is allowed by UGC
according to the latest rules and

regulations by UGC. ]
ELGﬁHQI BRI Fefiaw i s fafemi &
EUROEIRCIN
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10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
fraferfiea & @ &9 @1 TS Y H
IETET TR & 2

(A) Fofa-aviF  (B) Tee

(C) &tk AZFH (D) Hebfrad TG

Which of the following inferential
statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

(A) A Variance Test

(B) A Parametric Test

(C) A Non-Parametric Test

(D) None of these

GiIaTSieh TR Tehileh BT ST
Hleh I T 3R 15 & Y ST o 1T 379
= o @ *F @t g anfessht s
TergeTeT qehftes 1 IUFTT BT 2

(A) T ferawor qhteqor

(B) Ush Yrafetsh qieqor

(C) T TITH(Teh Thequr

(D) 3T § 1S T

Which of the following is NOT a useful
software to analyse the data obtained
through research ?

(A) Microsoft Excel (B) SPSS

(C) SSPS (D) PYTHON

IAHYH b WEH F U HAfhSl I
v 1 & fou fafaRga g @ s @
TSR ST T8l & 2

(A) WISHIETTR T (B) THICHTH

(C) wougdied (D) YA

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview

(D) Impersonal Interview

freferfiga & @ ®F @1 YR IgHYH |
“HTRATesh R o T | T erd & & ?

(A) GIFEd BRI

(B) 3ITERIT ATRAThR

(C) afeaeh HTETTehR

(D) JraferTeh HTETTh R

LR A g
| TR SfieH o Wt ol HH TE a1 | SEa:
| Ao 379 ST S WEHISS! & BHRI TEEhid J 3
| I "GO Bl OIS e & 3N EHR Tyl e <
| ol TS W HE T ¢ | 36 WY & WM WA
| EXAT o U IE B T | FA9H e Jomett
| Jeed S I UH HHM o FoTC FET-Rehiien wi
. 3R U@ SHHT B | T, Y IR T 3 fedl
| BUTTR & Fifeh I 3T i TR I s 6
| SO gR ¥ S $9 G 1 S A o -

Read the following passage and answer the

. Questions given below : (Q. 11-15)

The scientific and critical mind of India

must be reawakened from its slumber. The

ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
importance of our earthly life. In fact, opulence,
inner and outer, was the driving force of this
culture. But for about a Millenntum and a half
now our culture has let go of this fine balance and
got trapped into the ascetic denial of our terrestrial
life. With this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system 1is that it 1s gravely denationalising. No
German education would be regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the

i sources of our culture. It is ironical that Indian
. education is uncritically trying to emulate the
i West just when the West itself 1s going through a

crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems 0% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among people of all ages as well as
a social organisation that sets a premium on greed
rather than on compassion and love.

e i o A g o s

& I GIfTE : (T, 11-15)
T o ST 3T AT AT
35eh! i & foh & S B | Afes 3R 3ufg
T IMYTRG T TE&hid 4 §AR

<l Ik wiferd o |
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R SFERIHT R &l 8 | T o 37 U=
form 18 oft Srfe frer o 7l =t St &, AfeR
R 1T o1 AT Teehia < @it 6 R H Udt

1S e 8 & | 7 forewer & p v fren v
ferell STTeATerT o UfTerm <1 TR0 i i I |

HE 2, T afvem W e s Tl % T
LI o Hey 3 forva i & Tehe T ST 8 | T8
TR & T @1 & Top o e 21w & i aw

TS o S Ueh Hio[gT FRrsm <hl st Tuenati s

HTHAT S T8 8 ST 0T 3R 3 o ST AT |

Jrfenge Tenfud T g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise (D) None of these

39 ITTSE h @ ANATT TEBId I/l |

AT ATEd 7 |
(A) GASfiterd (B) 3=
(C) @ (D) $TH | IS &I
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values (D) None of these

T =G H e g 1 31 7
(A) wiifer (B) &
(D) T8 § 15 el

13.  Which of the following is NOT an issue

faced by the western society as per the ;

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

frffad 3 @ F4 1 I T %
AR ufvadt TS g AmAT fohen S
T HEl & 8 2

(A) et & st foramg 4o =i Geiy

(B) Hq

(C) RN

(D) $ver H forgame i wrft
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14.

15.

16.

“No German education would be

regarded complete without a good

acc(ljuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

‘ﬂﬁ@g IS qﬁwgﬁmﬁé%ﬁaﬁq

e qof &1 7 STt B 17 31=ee i 3|

Ul AU RN EAAAR?

(A) oTEeh o e Somret shi ST i 2 |

(B) G SiHH <heflehI TIIU i 0 hid ¢ |

(C) s T1em § sl 3R T=hid &
e A g |

(D) T & IS Tl

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient

language and literature of India.
D) All of these

% IgEr, wAh fuenm e
FFUGRIHTT <L TEl B Hifeh N
(A) T8 WA  HEM RI¥a1 3 Hdl & R
7 7l forgrei ? |
(B) I8 WA % HEM Hellhii o a1 T Tl
ot 2 |

(C) ¥18 WRA = T W91 3R Hifeed
TR T2 e @ |

(D) @& &+ft

A conference or a meeting or even a

mela or procession is a ‘communication

event’, newspapers, radio, cinema and

television are ‘communication media’,

phones, computers, satellites and the
internet are ‘communication ’

(A) spaces (B) media '
(C) technologies (D) process
Th G I1 Th o3 A1 A& deh {h Th

AT A1 @ T TR FeAT 7, THER-
w, e, fgam s efifesm w=r
T’ E, BH, FI, IWE I FEAE

TR 21
(B) Hifean

(A) AT
(C) vrenfuferai (D) wfsran



17.

18.

19.

20.

21.

The Interpretation  process in
Communication takes place in )

(A) sender g ) message
(C) receiver D) channel

IR | AT Uk (FHEE 1 ) |

FEA R |
(A) ﬁw (sender)
(B) H<I (message)
© Tedehdl (receiver)
(D) EER] (channel)
What is of greater concern is the effect
of ¢ > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.
EA StereotT{pes
B) Generalisation
C) Desensitization
D) None of these

S 3tferen feiar & foww 8, 98 ¢ &l
TS B, ST ShEshHT, GHET 3T ki
féan % gwl # dR-an fe@m &

IRUTTREEY 2 Jhdl 2 |

(A) Sfgaried B) @M=t
(C) FEAHT (D) TTH & HIE T
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gfceeff 3Euw, safedwes
qTa fohdeh 3TE & 2
(A) IR (B) s sen
(C) Hey T (D) WTa-TcHe STeT

Gestures, Grunts
examples of

(A) Evolution
(B) Non-Verbal Communication
(C) Noise

(D) Verbal communication

and Grimaces are

, ECEHT 3 g s fohereh Seretn 2
(A) Tam (B) TR-HiRge TR
(C) TR (D) Hifgss gaR

Find the missing number in the given

series following the same pattern :

& TS e § gAM e 1 SR
A FEIT A I :

18, 24, 84, 294, 798, (?7)

(A) 1682 (B) 1788 (C) 1867 (D) 1932

22,

23.

| 24.

Shyam bought an old Honda Bike and
spent X 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for I 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I H T U BieT S1geh GLie] 3T geh!
A W T 1,500 @9 fpu | i w358
UET Bl 20% o 19 T & fem | Usd 3
3 3g Bl 10% hl BT W = fem | vg 3
HATRITHR 38 T 12,100 T 10% o 19 W
99 feam| wm 9 gt giet 915 o o1

foReT (T ) YA fema 2
(A) T 8,600 (B) T 8,685
(C) % 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

H Teted P, Q IR R U &l faig W e | P
w foag @ 40 wfer/fme i 7ifd & e
IJE B g | 5 M s1g, Q, P & Ui
50 e /fire 1 71fd & et & a8 |
gy &, R off P & 11® 60 Hiex/fime 6
Tl & EreT I& LT & | P ol Uehsd TR

3 fepeft gt (e ®) T 2 2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

Gl IFIGAR o o9 T AT H, foordn i
%ol STol T HAl T 82% I §IT 3R
3G 3840 Tl o SgHA | TATE Sid ol |
I IS Ta A IS T&1 fohan S 2
Al STt TTT Al Y Hol HEAT AT 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000

05 (Economics)



25.

26.

27.
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Read the following information carefully
to answer the question given below :

(1) X *Y means Y is mother of X.

(i1)) X + Y means X is brother of Y.

(i11)) X —Y means X is sister of Y.

(iv) X/ Y means Y is father of X. i
Which of the following definitely means
that ‘P is grandson of Q’ ?

Jo fou M oy H IR A F
freferfiea Sl 1 STHYES Ue
OX*YHAGRY, XFHIATR |
()X +YHRIIFEX, YR UER |
() X- YR IFZX, YHI &R |
(V) X/YHATRY, X HTTUar? |
Frerferfaa o @ forerept fifvaa w0 & aef 2
f6 P, QH1IUETR ?

(A)P*H/Q

(B)A-P*H/Q
(C)A*P*H/Q

(D) None of these/g:lﬁ @?ﬁé:ﬁﬁ

Consider the following argument :

Major Premise : No squares are rectangles.

Minor Premise : All rectangles are circles.

Conclusion : Some circles are not squares.

What is the Mood of the above proposition ?

frfafgd oo = famm =t

%g@a INUR-TH : HI5 oft o 3mrd &
|

Y INER-AT : THft A I 2 |

e : gp gt T 7 | =

IR TR T TG FAT 2 2

(A) EAO (B) AEO

(C) ATE (D) EAT

Choose the analogy that best matches the
example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT
98 WgYd Y4 S UgH fohT T I W
e 3191 Al @1l |
i@ : T
(A) 991 : -/  (B) 3T : WShIeAT
(C) UIet: IR (D) 4e: SIfcaH ™

28.

29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically

follows from the given statements,
disregarding commonly known facts.
Statements Some questions are

answers. Some answers are writers.
All the writers are poets.

Conclusions :

. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answers.

A) Only I'and II follows.

B) Only I and IV follows.

g Only I and 1V follows.

Only II and_III follows.
HAT h a1g ey | ST
wtﬁm - ”%3 9 Hﬁ;?ﬁq

Y9 § %A U T § I A

T H <l TT AT B .

g @ =1 weffa Bid & | [ ] Ug 371

o frartfia =t fop_feu o frsest & & &4

|1 A T a2 shi 3ueT whid gy, fau

Wmaﬁwamxgﬁmﬂm%%l

hYA | TGS 2 |
mmﬁf%@w

freerd 5

1. TG IR |

L. gmﬁrm%

. Ift s hfa g |

Iv. a»-i%ra%ﬁtél 3

A I 3 11 3= |

EB))éromaﬁuvaqgawm%ﬂ

(C) shaet I11 37 IV T HLd 8 |
D éﬁane»ﬁxnmﬁww |
gW)hoever thrusts a ife into% another

person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

TR SfEd T =R AR a1l PRI

fohaT ST =1feT | JITEH ohid |9 Hoid
= o =1 =i9d & | 38T, "
Frwan fopa ST =Tfee |

fou e qeh o A it wifa g 2

T 9

(B) SAferantid qmT=fishtor

(C) 3T Tferehrt st 3Tdfiel

(D) E&f




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the
classes of individuals.

(c) It can be said to exist between two things
if they are related as cause and effect.

(d) It can be said to exist between two things
if they are related as species and genus.

Choose the correct answer from the
options given below :

(A) (a), (¢) and (d) only
(B) (c)and (d) only
(C) (b), (c) and (d) only

(D) (b) and %c) only N

S| e (TgAT

a’aﬁﬁﬁmﬁmﬁgﬁﬁqﬁ%éqw)% ?

(a) I8 hadl ol SAfdAl o S Y =T
HATE |

(b) T& K b Tl b i Helel &b T & |

3 Q1 el & o ST ThelT B
© a&awaﬁm?i@w T & |

d HEEEEESEE RN
SN Rl Sk R

T HerE g |
e few o freredi 1 & U8 Ia s =R hifT
(A) %5 (a), () HR() (B) i () HR(d)
(C) % (b), ()3 (d) (D) e (b) 3N (c)

g. No. 31 to 35 : The table given below provides
ata about investment done by different persons.
Read the table carefully and answer the questions.
(Note : Calculate simple interest unless specified
and all questions are independent of others%.

9. 31 9 35 ;: Fi9 & 7 arferer Tl safwet g

foru U Frew & SR T ST JEH T B | dTfotehl i |

&I | U¢ 37 I 1 IWE |
(T : TR0 TS 1 TTUAT L 6 b I8 T & |
SRt S gt & e 1)
Person Rateof | Time |Principal| Amount
=t interest | (Years) | werem LU
FqER | 1 ® ®
(=)
Amar / 3T 3% 1,800
Brijesh /fsom1 | 3% 3,000
Chirag / fem 4 2,900
Divya / fgem 2 4,500
Ekta / Tehdl 4% 2,000
Fenil / ®f& 2 6,000

31.

32.

33.

34.

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ife 3R SR R g oe &9 @ 2 : 3
% I § g, ar ferm g frew < e
TR 9H &9 & 8 A9 fehad aui |
& ST 2
(A) 33.5 (B)20 (C)22.22 (D) 29.40
If the ditference between the interest
received by Ekta and Brijesh is I 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.

If¢ whar 3R TSRt gRT ST =TS % s
IR T 420 g 3TN Toha 7 fororer g o Hr
TS ST | QT STare o T 31 e fert
fora B, 1 Weha bl ST U1 3T <hIfSTT |

(A) 2,298 (B) 2,785

(C) 3,050 (D) ¥2,960

If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comr]%ounded half yearly.

Rl FI ST T 3Tk gry FEw
HERUAE] 7, d1 ma hife fp 2 a9
e 39 i st gl afe a7 3
iyt 1 2 oY % fou e it
Tohd [, TS H e LT 2 |

(A) T2,233.56 (B) ¥2,549.45

(C) ¥2,322.62 (D) %2,122.46

If the interest received by Fenil is 20% of
the sum invested by him, then find how
much more money as interest he would
have earned if he had invested the money
in compound interest for the same years.

TR TS SIS 39k 2N

0

35 FHM TN o (¢ ThalG

Tere BT A1 39 foha 31fYeh st e |
(A) X80 (B)X60 (C)X65 (D)X 75

If the interest received by Fenil is I 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
than the rate of interest received by Amar,
then find the interest calculated by Divya.

Ife %A g1 e =Tt e g vH = e o
% 240 3k & 3R WA g0 I S hl
T I g 9T ST <hl & H 2% AT 3,
qt feea gry o foma TR =Tt S <hifTT |
(A) 1% B)2% (C)3% (D)4%
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36.

37.

38.

39.

Which one of the following statement(s)
1s/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

IIL. It cannot be used for cryptocurrency  ;

wallet addresses.
(A) Both Iand II §B) Both II and III

C) Only II D) Only III
%\W\%\'@ﬂﬁ@ﬁ@/ﬁ%% QR FiE &

TRATE /22

L. saaﬂaﬁqéaﬁﬁm%%nckRead)%l

II. I8 gi-fofa s 2 |

111, 39ehT 9N FoReiehiE afele Tead
fore & fopn s wehaT 2 | .

(A) I3RS (B) 11 3R I EHT

(C) aet 11 (D) ke 111

Which video compression standard is
commonly used in videq conferencing ?
SfifeAT IR § AR i

R form
HIGT TUES h1 ITANT fehaT SITaT 2 2
(A) H.264 (B) MPEG-2
(C) MPEG-4 (D) VP9

____is adigital initiative of government
of India in higher education that aims to :

promote hands-on learning of Robotics
and embedded systems in colleges.
(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

I fRTefT H I FhT i Th
Uedt B TSEeh BT Hiows & aifes 31
TS T i e 1 SeET e g |
(A) 3-33 (B) I3 isH
(C) 3-4ish yresmeT (D) 3-3ny
What is the National Institutional
Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education
nstitutions.

(B) A methodology for ranking higher

education institutions in India.

(C©) A platform/framework
students give feedback about
colleges and universities.

(D) All of these

(NIRF) T8 2

(A)ﬁ%ﬁé@ﬁ@ﬁﬂﬁﬁ%%ﬁ%

orier v g fem |

(B) Wt 5 3, P e 1 b 3 |

foTQ weh iy |

(C) U TE /T &l B hictsll 3ﬁI
o :

T aR A Ifafsran <d 8 |
(D) ¥ Tt

05 (Economics)

where |

40.

41.

42.

|43,

What does it require to set-up an Intranet
for an organization ?
A) Computing devices
B) Communication links and
Interconnecting devices

(C) Protocols ~  for _enabling
communication among devices
D) All of these
%?Fﬁ TS o folU 3gHe TA1a &
fere s 2 2
(A) :
(B) H=R fo7sh 3R
(C) o off<l TR ! W& L 5
(D) I aft
Under which protocol the Clean Development
Mechanism (pCDM) is implemented ?
A ﬁyoto protocol
B ontero protocol
C) Paris agreement
D) Cartagena ggrotocol )
JIeiehlcl o dgd s o™
GISOSIUNERIE I

(A) F (B) Hiel SeEhiA

(C) U@ Tusiidl (D) IS TIdiehicd

Certified emission reduction credit represents

(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon

dioxide emitted to the atmosphere.
(D) None of these

IS haldl shige  (certified

emission reduction credit)

(A) TIHSA H IEAA Hohl SEIAFHEE
% Th Ul < § T | §
(B) IIHSH W I AT5gIoH STaTEe
% Teh Hfgeh o H | }
(C) ITIHSA H IHSIA HIEH SHIHATTFTES
o Ush Higsh o H 1 |

(D) 378 | IS T

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee <Rice < Wheat

D) Rice < Coffee < Wheat
& 3T

ST ghgd (water
footprint) o ToTT STRIE! 3 H SHATEIA . |
(A) g < TS < HIh
(B) e < 7T < it
(C) ih! < =g <5
(D) T < il <5



44.

45.

46.

47.

How many kilograms of CO, is

equivalent to 1 kg of CH, in terms of |

global warming potential ?

et Ll N —

CO,, 1 freiiom CH, & SRR 2 2
(A)" 10

B) 25
€c3 S0 :
(D) None of these/STH H IS T&

The United Nations Conference on

Environment and Development

UNCED), also known as the °‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

B) 177, socio-demographic

C) 175, socio-cultural

D) 173, bio conservation

foprE W Tg® TP THTH
(JuEEe), 8 ‘gl Rret aeE %
w7 § oft I ST 2, D
yfaffert = wfaer W aHa

et 3 S % R A

T wh |1 A |

(A) 179, GraThTeh-3Tfh
(B) 177, AT —ST:
(C) 175, QrTfTeh-
(D) 173, 9 T&q0T
In most of the States of India, the Vice-
Chancellor of a State Government
University is appointed by .

A% Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State

c

(Dﬁ T o foren Wt
Which is/are the online

Flatformgs])l in India ?

. DIKSHA 1II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA
gAg Only I, II (Bg Only I, II, III

C) Only Ii (D) Only L I, IV_
A § STeTE 18701 7l b |1/8 8 /8 2
I dan . @&

. 7@ IV. TR

(A) ae I, 11 (B) shad I, 11, 111
(C) aet 11 (D) &I L, 11, IV

learning

48.

49.

50.

Which of the following institutions/
organisations play important role in

designing the curriculum for all the
levels of school education and higher
education in all the disciplines of
knowledge ?

[. NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L II (B) Only L, I, I1I
(C) LIL, 100, IV (D) Only L, I, IV
M o a fawai # wRefl fren ok 3=
et o |t & o fTQ qTa@shn AR &
T fafafgd & 9 ®F @ GE/9ed
Tgaqut ferent fuma § 2

[ TERARE 1L TR

IV. TITEHER
(B) had I, 11, 111
(©) LIL, 100, IV (D) sad I, 11, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafga 4 @ w9 @ e ardE
Torvafoamem adam @99 & wifesaE |

ancient Indian
in Pakistan of

f@rcr?m
(A) ATl (B) q&rfret
(C) oot (D) ferspufstemn

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular languages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl II, IIT

(C) OnlyL,III (D) OnlyIL, IIL, IV

TAgdt 2020 A R AR e ¢

L &t sSiifEi s afgwe aigasea
T T3 | I T |

II. ST=E S Jomferlt sl T |

L &ft sl wg-fawres
Teroaforaneri @ af@faa e |

V. YRfeh STeaTaee c@vTe 3T fra
o ToTT Teh T UTSAhA IR ST |

(A) LILILIV  (B) saat I, I, 111

(C) haet I, 111 (D) e 11, 111, IV
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S1.

52.

3.

54.

55.

Part—11 / 9-11

Economics / A

Which of the following is incorrect about | 6.

Human Development Index (HDI) ?
(A) Life expectancy

(B) Educational attainment

(C) GDRP per capita

D) Infant mortahty
%ﬂﬁf@ﬂ S |1 g foshr Feehieh

(@ﬁaﬁ)%aﬁﬁw%?
(A) ey (B) ety
(€) va=fwshdid (D) Prgag e

Market signalling is used to reduce
(A) Adverse selection (B) Externality
(C) Moral hazard (D) None of these

FIT hH T ok ToT SIS Gehdl shT ST foma
SaTg ?

(A) SfpeT==d  (B) WRRT | 5
(C) Al (D) SHUBE R

Which of the following is common in the

Economic union?

(A) Fiscal policy {

(B) Monetary policy

(C) (A)and (B) |

(D) International trade l%ohcy
g f fefefga g g AT amm 2 ?

H

(A) TSN ife (B) wifges if 58.

(C) (A)IR(B) (D) IUER MU Afet
In the regression specification y=o+px+¢, the
expected value of y conditional onx =1 is
(A) the average of the sample y values
corresponding to x = 1.

(B) a-p

C) B
(D) ot

iRt e y—a+[3x+afl¥|5ré x=1W
y T AUTRTd Hed AR 7
(A) x=1 ﬁwﬁqﬁmy%nﬁaﬂaﬁw
(B) a-p
©) B
(D) a+p
The Herfindahl index is a measurement !
tool that is used to:
(A) Market concentration
(B) CPI
(C) Currency Exchange Rate
(D) Interest rate

W@W@%Ww
feroreh fou fpan ST 2 7
(A) SR & Tehgul  (B) HidieTs
) Emifma (D) A

05 (Economics) 10

| 59,

The kink demand curve of oligopolistic
market is at upper part and at
the lower part.

(A) Inelastic, less elastic

(B) More elastic, less elastic

(C) Less elastic, perfectly elastic

(D) Inelastic, inelastic

JreaTTerehT STSTR < ferghferd Wi aish <1 S
I 3 foreret K]
(A) SIAEIGR, shH RIGR

(B) e TR, Y elgR

(C) HH TR, I & § <ireiqr

(D) dAEGR, dci=GR

Elasticity of substitution for

substitute is

(A) One (B) Infinity

(C) Zero (D) Negative
U1 T o o T <6l @il 81t 8
(A) T (B) 3d

©) (D) RuMcHh
Displacement effect is associated with-
(A) Theory of public goods

(B) Theory of public expenditure

(C) Theory of money supply

(D) Theory of public revenue

foreemmom wurre fored Taft @ 7
(A) TSI g3t 1 frgra
(B) Treteh = 1 fgia
(C) & mafet 1 g

(D) eI Totea o1 g

Cost elasticity of the firm is equal to
(A) Marginal cost + average cost
(B) Average cost — marginal cost
(C) Average cost * marginal cost
(D) Marginal cost / Average cost

WH Sl AT A fehEeh STSR Bl & 7
(A) T AR + 3 AT
(B) 3TGd ST — T AT
(C) 3T\ ST * HHId AT
(D) HHTd ST / 3 AT

perfect



60.

61.

62.

63.

64.

Which of the following is not the prime
objective of monetary policy ?

(A) Price stability

(B) Higher economic growth

(C) (A) and (B) both

D) Promoting exports
%!td‘?ﬂ'@ﬁ T ¥ &= o1 Hifges Hifd w1 g

F TG g7
(A)]ﬁf&m (B) 3= 1Yk afg

(C) (A) 3R B) 3 (D) Fefia ragmr e
Suppose the regression specification y = o +
Bx + 6z + € was estimated as y = 2 + 3x + 4z.
We have a new observation for which x = 5
and z=-2. Whatis the expected value of y ?

T efifore gfarme fafeem y=a+ pr+8z+¢
T IHH y =2+ 3x + 4z o €Y T IR T
AT | IR YR Teh T el & foreh fotw x
=53Mz=-2% | yH IR TARIL ?
(A)7  (B) 9
(C) 25 (D) impossible to determine /
T IEVE R |
Who introduced the idea of trade creation?

(A) Alfred Marshall (B) Haberler

(C) Paul Krugman (D) Jacob Viner

STIR G 1 TR Tohe &g fopam & ?

(A) PSR (B) THH

(C) |t g (D) “ihs TR

Prebisch - Singer hypothesis relates to

(A) Balance of payments problem of
developing countries.

(B) Terms of trade of developing countries.

(C) Prevalence of poverty among
developing countries.

(D) Inequality of income in developing
countries.

Sitfery - T aRepeeT ot Herw fohed & 7

(A) fosprersiict <ol 3t TTaH e aae

(B) Tereprersiict Sl < oA sht 71

(C) Toreprasfiet <utt & et <ht =muehdr

(D) Toreprasfiet <ot & 31/ <t T

The short run producer surplus is equal to

(A) Revenue — Variable Cost

(B) Variable Cost — Revenue

(C) Revenue + Variable cost
(D) Revenue — Fixed Cost

mmﬁ@m%&%w%%?
(A) TSRS - IRETT ARTd
(B) TSI @RI — Toiedl
(C) TSRS + YREd-1a T
(D) T — R &Frd

11

65S.

66.

67.

| 68.

If a cobbler buys leather for ¥ 100 and
thread for ¥ 50 and uses them to produce
and sell ¥ 500 worth of shoes to consumers,
the contribution to GDP is

=f¢ Teh A= % 100 H =weT 3R T S0 H &rm
Gliedl 8 3R 3T ITIRT STARBISA ol
% 500 e o Sd S HI s= o forw e
2, Tl Hehet Te] 3cUTE H ANTEH fehaHT 3 7
(A) %50 (B) 150

(C) %650 (D) %500

Which of the following statement is true
with regards to National Income (NI) ?

(A) NI = Rent+ Interest + Wages + Profit
(B) NI=Rent + Interest + Wages + Taxes

(C) NI = Govt. Expenditure + Interest +
Wages + Profit

(D) NI =Rent+ Interest + Wages + Pensions
Fr=fetiga 5 & oM 91 A TE™ 31 (NI)
FEEU TR 7

(A) NI = TRt + =T + Hofgll + T
(B) NI = TortRrm + =T + Aeigll +
(C) NI = S & + o1 +Hoigll + v
(D) NI = formm + =t + + U3
Which of following method provides the

best, linear and unbiased estimators in the
presence of heteroscedasticity ?

(A) Weighted Least Squares

(B) Indirect Least Squares

(C) Ordinary Least Squares

(D) Instrumental Variables

FrafcTRad # & i &t fafer fosmsTirean 6
Juferfa # garow, e A e
3Tehotehdl JgH SHidl & ?

(A) TIRA = S (B) Toed =icH o
(C) |1 =FH 1 (D) TR =W

Cost output elasticity is used to measure-
(A) Equilibrium of a firm

(B) Economies of scale

(C) Least cost combination

(D) Marginal Rate of Transformation
AN 3cATEA ole bl AU o foTu foherept
TN feRaT T R ?

(A) ¥ 1 HGeH
(B) Y9 I s
(C) I AT FAIS
(D) EYTHRET <h! HHTd X

05 (Economics)




69. Inthe equation C=60+0.6 Y, MPC s
gifietor C = 60 + 0.6 Y |, MPC fohamn g ?

(A) 60
©)

0

monopoly
e markup is small and the firm has

more monopoly power.

the mark up is large and firm has little

(A) t
(B)
©
(D)
e ThIfrhR

monopoly power.

(B) 0.6
D) 1 :
70. If the firm’s demand is elastic under

the mark up is large and firm does not
have monopoly power.
the markup is small and firm has little

monopoly power.

q&d BH <hl T e &l dl

(A) TH3T BT BT & 3 B % IH
3fereh USRItk Bl 2 |

(B) UEh3TT SIS BT & 3T B hl TSHITEhR
Itk Sgd FA B |

(C)nﬁma@@m%aﬁ(tﬁﬁﬁsme

THITHT 3tk Tl Bl & |
(D) W3 BRI BT & HW HH H |
TSR Sfh Sigd bW Bl & |
71. Match List-I with List-II :
List-1 List-11
a. Absolute L. Heckscher —
Advantage Ohlin
Theory of
International
Trade
b. Factor proportion II.  Marshall
Theory of Trade
c Offer Curve III. Adam Smith
Opportunity Cost IV. Haberler
Iﬁ'ﬁ 131 -1 § foreT <hifor
el Teli-11
a. AU [ B -
ST T 901 el
T fogra
b. FURFHRE I HARA
c. TR 1. uew fagy
d. SEEmArd IV. TR
Choose the correct answer from the options
given below: L
= féq T ferbedi W H HE I BN WM
(A) aI b-III, c-1I, d-IV
(B) a-IlI, b-I, ¢, dIV
(C) a-I, b-II, c-IV, d-II
(D) a-IlI, b-I, c-IV, d-II

05 (Economics)

72.

73.

L 74,

According to the Phillips curve,
unemployment will return to the natural
rate when

(A) Nominal wages are equal to expected
wages.

(B) Real wages are back at long-run
equilibrium level.

(C) Nominal wages are growing faster
than inflation.

(D) Inflation is higher than the growth of
nominal wages.

ToRfoTe aIsh o TR, SRISTTRY TTHTfeh &t

TR e 19" 3T S ST

(A) gfﬁnﬁaﬁmaﬁaﬁfaﬁm@%w

|

(B) ardfesh AIEll Erelehiei Fge &R W
IIE 3T TE B |

(C) THHE <l gerehifa 6t gon o
Aol o &g W Er |

(D) GEhifd FmeE H Aeigd i afg |
JAfereh Bt |

Hedges avoid the

(A) transaction risk of the goods and
services.

(B) exchange risk of foreign currencies.
(C) exchange risk of foreign goods.
(D) transaction risk of financial liabilities.

For! fope S 8 ?

(A) |t SN T3 o - g
(B) Toresft ggrai < fafama ity
(C) Toreaht agati & fafama shfem
(D) forfrr erfn < oe Sifem

In India, inflation is measured by using
following method :

(A) Consumer Price Index for Industrial
workers

(B) Industrial Price Index

(C) Consumer Price Index for Agricultural
workers

(D) Wholesale Price Index
R H ggrehifa st e fafer | wmsman g
(A) e sAftehi & fTQ TR Ao

RN :
(B) STENfTeh Tt Ferehieh '
(C) Y Zifeni o ToTT IUWRAT Jod Yohieh
(D) % T FEHTH
o



75.

76.

71.

78.

79.

Sectoral share of agriculture & allied

sectors and manufacturing in a nominal |

GVA in the year 2019-20 was

(A) 164and16.1 (B) 17.5and 16.3
(C) 184and14.7 (D) 16.8and 16.2
9 2019-20 ¥ FHAH ST (GVA) H HiY
3R Heg aF o fafwi & & SEER
e fepamm e 7

(A) 16.43W16.1 (B) 17.537R16.3
(C) 18.43M14.7 (D) 16.8 3R 16.2

In support prices, government sets the price
(A) above free market level.

(B) above firm’s fixed cost.

(C) below free market level.

(D) below firm’s variable cost.

T Youi H TR Yool FHeTid it &

(A) T SR &R & W

(B) ®H ! fRR a1 & W

(C) Gh SR &R & il

(D) ®H <hl IiEd-1T arTd & i

Durbin Watson (DW) Statistics are useful
. 81.

to find the problem of
(A) Heteroscedasticity (B) Multicollinearity
(C) Autocorrelation (D) Specification error

gfeH areds (DW) Hifereh! fora wmer <t
Tl &M o foTe 3wmfi & 2

(A) foumerdmar  (B) sEEREED

(C) THegsY (D) Taffégiemor e

In which year was the Fiscal Responsibility
and Budget Management (FRBM) law
enacted by the Government of India ?

T TR g fohd Y TiehiN 1T STeTRIe
3R ST J§LH (FRBM) ST SR TR T 2
(A) 2001 (B) 2004
(C) 2003 (D) 2002

The wealth effect on welfare is associated with

(A) Shift in indifference map.

(B) Shift in production possibility frontier.
(C) Shift in the offer curve.

(D) Shift in utility possibility frontier.

ST T U 1 THTS foherdl ST 8 7

(A) e (indifference) wHRE T siee™

(B) 3cdTeH ST U1 H Seare
(C) & a5k 1 el
(D) SN ST T | SeeTre

13

80.

Which of the following statement is correct
about Economic rent ?

(A) Willingness to pay for an input —
minimum amount required to buy it.

(B) Minimum amount to obtain the input
in the industry.

(C) Total rent — Variable cost.
(D) Willingness to pay for an input +
fixed cost.

Fafafea & @ &9 o1 w2F s 9 &

IRHTE T ?

(A) Toreft 379 o ToTT ST i <t 33T -
T8 Tlie % fore atraess =pam i

(B) TN H $9YE UTH T b foTT =Tad Tl

(C) P Tortrn - uftardHa @

(D) U Y + fRR @A &% fofu yram
T i B

Statement I : Endogenous growth theory
suggest that investment in human
capital, innovation and knowledge
leads to economic growth.

Statement II : Investment in human
capital, innovation and knowledge
reduces the diminishing returns on
investment.

Choose the most appropriate answer :
(A) Both are true.

(B) Both are false.

(C) Tis correct, 1 is false.

(D) Ilis correct, I is false.

I : Jiceiia foepm forgia samn &
e Sft, TR 3R FE H oW 8
3Tk forp@ BT 2 |

A 11 : T IS0, TFEE 31 FE § fam,
TR aed T I FAHATR |

GeH 3T ST A :

(A) T HEE | (B)GHI TTeTd & |

(C) 158 e, 1T 8 | (D) IHEE, [Tl 2 |
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82.

83.

84.

According to traditional neo-classical
growth theory, output growth result from

a. Increase in labour quantity and quality
b. Increase in capital

c. Increase in exports

d. Improvement in technology

Choose the correct answer

(A) a,bandc (B) aandb

(C) bandc (D) a,bandd
URUReh FeRmE fosmm faga % 3TER,
I i ForeehT TR BT 8 ?

a. o R SR I H 9fg

b. TG

c. friaiiafy

d. SR & gem
TE ST R T
(A) a, b3 c

(C) b3Mec

(B) a3Mb
(D) a,b3fRd

The price-specific flow mechanism is ; 86,

associated with-

(A) International trade of goods
(B) Inflation

(C) Balance of Payment

(D) Free capital flow

qea-fafre vrare Branfafir fre dafa 7
(A) T T JTRE AR

(B) Hx1 whifct

(C) YT T

(D) 5 il were

Intertemporal consumer choices means-

(A) Choices involving the consumption :
patterns of neighbours. i

(B) Choices involving different period of time.
(C) Choices involving the past income.

(D) Choices involving the government
tax policy.

JiehifeTeh STHIHT fershedl ot oo A 2 7
(A) TG o JUHT ¥ & e Torehed
(B) Tafirs Tmemafer & e forehe
(C) Treeh 3 & 52 forepeq
(D) TR o A & 52 foreben

i
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. 87

According to the Edgeworth model of
duopoly, which of the following assertions
is true?

(A) The duopolists
interdependence.

(B) It explains price rigidity.

(C) Each duopolist assumes the other
keeps its price constant.

(D) Each duopolist assumes the other
keeps its quantity constant.

TR % e mied % ITER,

feffaad g aweA a2 ?

(A) Toafemprand oot wem ffar =
TEEAMd & |

(B) T2 e TR hl = sl 7 |

(C) I Tganfieprand wrar & T quw
! hind TR @S |

(D) e Tganfeeprand wean & T quw
SEeh! O FRR W& 7 |

What is value of the equilibrium level of

income for the data given below for an
economy ?

recognize their

Frfergeen & fore i fou o 3iferel & foro
3T % HJeH TR 1 Jod AT 8 ?
C=50+0.8Yd

T=20%

1=100

G=30

(A) 400 (B) 300

(C) 500 (D) 600

Monopsony power depends on-

(A) Elastic of Demand

(B) Cost elasticity of output

(C) Elasticity of Supply

(D) Elasticity of Revenue

Teh ShTTeh 9Ifeh fopd T Pt st 8 7

(A) T H

(B) 3TEH Sl AT ofr el
(C) Imgfet r =

(D) Tra i A



88.

89.

90.

The Mundell-Fleming model shows the
effect of economic policy in

(A) Small closed economy
(B) Large closed economy
(C) Small open economy
(D) Large open economy

~FATHT Hige 3Ties fifd & gvE <l
I G 2 ?

(A) BI s FATEEq

(B) & wig e

(C) BN Geft srieraen

(D) oI Gett T

Given the total revenue function,

TR=1400Q — 6Q? and Total cost function

1500 + 80Q at Q=100 units (where

Q=amount of output), which of following

is correct?

a. MR>MC b. MC=80

c. MR<MC d MR=MC

(A) onlya and b are correct

(B) onlyb and c are correct

(C) onlyb and d are correct

(D) Can’tdefine

feu T 1 ToRE ®weH TR=1400Q — 6Q>

3R Q=100 I W (&I Q=T Hl
TET) Pl R He 1500 + 80Q B,

ﬁm%ﬁaaﬁﬁﬁqm@%?

a. MR>MC b. MC=80

c. MR<MC d MR=MC

(A) el a INbEEE |

(B) heicT b 3N c AT |

(C) ST b IR AFE 2 |

(D) IR & T Hehdl |

The long run supply curve indicates

(A) Increasing industry cost

(B) Decreasing industry cost

(C) Constant industry cost
(D) None of these

CreehTet JTTY(d a5k 1 TAT 8 ?
(A) JTF ARG H G

(B) 3N ANT H it

(C) =T § frar

(D) T T IS TE

15

91.

92.

Which of the following are CORRECT?

a. If  observations are  selected
purposively, it is called a method of
non-random sampling.

b. If observations are selected in an
ad-hoc manner, it is called a method
of non-random sampling.

c. If observations are selected in a
systematic manner it is called a
method of non-random sampling.

d. If observations are selected on the
basis of judgment, it is called a
method of non-random sampling.

Choose the correct answer from the options

given below:

(A) a,bandconly (B) b,canddonly

C) ac and d only (D) a, b and d only

TYHA TR 8 ?
e Yequnt o1 === 6 o Ree
SN, @ 38 -Gl e faf
FHEIAC 2 |

b. Ife Jequn 1 = ded afies & TR
SN, @ 38 -Gz e faf
FHEIAC 2 |

c. Ffe Jequn oh1 = Fafedrd afies o fema
SN, @ 38 -Gl e faf
FHEIAC 2 |

d.  Ife Jeor o1 = Tl o SR W
fopan ST, @t 38 TR-rgfeas witeeA
ICICETIEISES

I few U foemedt O HE I H =

Hifm :

(A) $acTa, b3 ¢ (B) Hhae b, ¢ 3R d

(C) Sacia, ¢ IR d (D) Facta, b 3 d

The first degree price discrimination means-

(A) Charging different prices for different
quantities.

(B) Charging different prices for different
qualities.

(C) Charging different prices for different
markets.

(D) Charging different prices for different
elasticity.

v feft gt Sewre ohr R 1 R 7

(A) ITAT-3TAT TET & fI¢ ITerT-3Tem
I o |

(B) fafi {[ma?naﬁ & ot 3remT-3mem

A I |

(©€) ﬁﬁawﬁ%s%qmﬂ—mﬂrﬁnﬁém |

(D) ITAT-3TAT &g & T 3TerT-31em

I T |
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93.

9.

95.

The range of the Keynesian multiplier is
(A) Between 0 and

(B) Between 1 and oo

(C) Between — oo and +o0

(D) Between 0 and 1

SHrTTC] TUTeh I T g 7
(A) 0 3R ok ofiw

(B) 1 3R ook ofiw

(C) —00 3N +o0 S &
(D) 03 1 &=

A C{)ositively sloped aggregate supply curve
indicates that

(A) An increase in aggregate demand will be
associated with an increase in the price
level and no change in equilibrium output.

An increase in aggregate demand will
be associated with an increase in
equilibrium output and no change in
the price level.

An increase in aggregate demand will
be associated with an increase in both
the price level and equilibrium output.

(D) None of these
THRIH T § 3T TH9 MY o6 37
Farg ok

(A)wmﬂﬁa’ﬁ—g' TR H dfg 3N
agaaaara LR
a@sﬁrm

(B) wHI HIT H Fig HgeH 3ce H gig 3R
TR ﬁéwﬁ@ﬁ@@%ﬁl

(C) o9y oI ¥ g goI TR 3R gger
maﬁﬁa@@@@ﬁl

(D) 8 YIS T

Which of the following is not the
dimension of Multidimensional Poverty
Index?

(A) Education (B) Health
(C) Standard of living (D) Inflation

fafiRaa & & @A @1 SgeTREm et
eI ol ST T8l 8 7
(A) e (B) @re

(C) TA-HEA R &R (D) Gerhifa

(B)

(©)
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96.

97.

98.

99.

When the Exchange Rate changes from 1$
=372 to 1$ =% 68, then the:

a. Rupee has depremated

b.  Dollar has depreciated

c.  Rupee has appreciated

d. Dollar has appreciated

Choose the correct answer from the options
given below:

(A) aanddonly (B) bandconly

(C) canddonly (D) aandb only

Sefafmg@i1$ =328 1$ =368 &
M,

a. me%@m%’%l

b. ST I I I ST & |

c. TR H IIRA B SIS |

d. SR BIA@R |

= feu o fasmeqt A @ wE S H1 TH
Shifore

(A) FaTa3Rd (B) HaA b3 c
(C) Fadc3Rd (D) Hacta 3 b
What is maximized in Golden Rule Path
given by Edmund Phelps?

(A) Production

(B) Economic growth
(C) Government revenue
(D) Consumptlon

TEHE heW g0 faU U Meed & U | =1

JfReRaH BT B ?
(A) 3cared (B) 3Tiiep fereprd
(C) TR TS (D) YT

Coefficient of Variation is a measure of-
(A) Central Tendency (B) Skewness
(©) Kurtosis (D) Dispersion

WWWW%?
(A) HEwERi  (B) 9w
(C) Feat (D) %™

Chi square test measures the association

between

(A) Two ratio scaled variables

(B) Two nominal variables

(C) One nominal and one
scaled variable

(D) One nominal and one ratio scaled
variable

s o1 giieur fondeh i Geg R AT  ?
(A) T AT AT =X

(B) < A =R

(C) Tsh ITHHTH 37T Teh eIt HIfYd =X
(D) Teh T 3T Teh STHTA HIfUd =

interval



100. Match List-I with List-1I :
List-1 List-11 i
Supply side of I.  David Ricardo :
International Trade i
Demand side of II. Bastable and
International Trade Alfred
Marshall
Opportunity cost of III. Haberler
International Trade
Real cost Theory of IV. Alfred
International Trade Marshall and
Edgeworth
-1 < F-11 8 TieTe hifse :
Tit-1 asﬁ—n
a. IR L
k2l &
b. FAWEH MR I &S 3R
=1 AT 9& TS A
c. FWTIRAUR I FIEH
< SFerET AT
d. FAWEERATUR V. 3IHHhs AR
1 STEfeh I TS
Choose the correct answer from the options |
given below : o
d few U foehedi § ¥ HE 3T R WA
Eﬁﬁlﬂ:
A) a-l bIV c-Il, d-1I
B a-IV eIl d-III
C) a-l bIV c-Ill, d-1I
D) a-1V, b-l, ¢ d-II

101.

102.

ich states performed worst in NITI
Aayog Health Index for the reference year

2017-18?
(B) Bihar

(A) Rajasthan
(C)_Uttar Pradesh (D) Chhatt1sgarh

ey 9y 2017-18 = o7 ifa 3T wmes

Hhih ¥ fohd TS 1 T G WeeH @l 7

(A) TTEIH (B) fo@R

(C) I (D) BeiETe

According to life cycle hypothesis,

consumption depends on-

A) Income

B) Wealth

g % A) and (B) both

D) Consumption pattern of the society.
Ih IR, [ER

R warg ? f

(A) 3™

(B) Tufd .

(©) (A) 3R (B) T

(D) THTS T IUHIT U
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103.

104.

105.

106.

Tit for tat strategy is an example of-
(A) Repeated games
(B) Monopsony
(C) Perfect competition
%—Q) Bilateral monopoly
1 T W feheehl CTE1 & ?
(A) SRER & (B) Tsh ShaTeiehR
(C) & wfEifiar (D) fguef ThifeRpR
The paradox of thrift is associated with-
(A) Harrod-Domar model
(B) Keynesian model
(C) Lucas model
(D) Milton Friedman model

1 fertremary forod weifera & 7
(A) S-S HIEA
(B) hesTaIie] Higet
(C) IhE HIsA
(D) e wigH Aise
The Kasturirangan Committee was set up
to form-

(A) Fertilizer policy (B) Education policy
©) Indlgmal policy (D) Financial policy

1 g o1 e feran
TR T ?

(A) I A (B) forenr fifa

(C) af+ifa (D) T Hifa

In behavioural economics, loss aversion
indicates-

(A) Tendency for individuals to prefer
avoiding short term gains over long
term gains.

Tendency for individuals to prefer
avoiding losses over acquiring gains.
Tendency for individuals to prefer
avoiding long term gains over short
term gains.

Tendency for individuals to prefer
avoiding short term risk over

acquiring long term gains. )
m%rra% T FHameT = i
ER?IT% ?

(A) SARal & folw delepifels o W
TR TTH H &= hi T |

(B) T 31 ey Y e gl & S
1 ST ¢ <hl ekl sl S |

(C) =IRRE % IU e oY W
Crelehifereh T & = <1 S |

(D) ekt o foTa Selentfetes < ITH 1
foTu ateaenioren SHifew & s=H <l A |
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107.

108.

109.

110.

Arrange the following concepts of
consumer behaviour in chronological order
a. Law of diminishing marginal utility

b. Law of demand

c. Revealed Preference Analysis

d. Indifference Curve Analysis

Mark the correct answer from the options

given below :

YRR SR 61 Fferfad sraumonas
Y T SR

a. A YA &forar 1 Frem

b. Him M

c. oI ST fageryor

d.  3cTEar sk fagero

e fe e ferepeat o & HE SR W AT @ Re

(A) a,b,d, c (B) b,a,d,c

(C) b,a,c,d (D) a,b,c,d

Pigou effect shows the relation between

(A) Consumption and welfare of the society.

(B) Falling prices and expansion in income.

(C) Increase in money supply and general |

price level.
(D) Inflation and real wage rate.

] ST fopereh ofte Tey guian g ?

(A) 9T 3T T T HedToT

(B) TRt Shiwe 37t 3171 1 feram

(C) T3 YL TR = Jed TR H (g
(D) HarehIfd 3 smecferen worgl &

Gini coefficient is used to measure-

(A) Monopoly power

(B) Inequality

(C) Inefficiency in the market

(D) WPI

HIT A9 o foTw T Tqories 61 39 TR
ST g ?

(A) THIERR I (B) SFEHMECT

(C) SR Y 3l (D) SHIHITE

Which of the following is correct about
Primary deficit ?

(A) Capital — Interest Payment

(B) Revenue Deficit — Interest Payment
(C) Budget Deficit — Interest Payment

(D) Fiscal Deficit — Interest Payment

;

!

P & i 1 e e 5

a7

(A) TSl ~ & PTaH

(B) TS ©TeT — ST T
(C) &I TR - STt YA
(D) TSThINT HTeT — SIS T
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111.

112.

Hick’s technical change is neutral if-
(A) MP,/MP; increases

(B) MP,/MP; decreases

(C) MP/MP, remains unchanged
(D) MP,/MPy increases

Teh o1 dhiieh] TREdH dee B afe
(A) MP, /MP, S&a1% |

(B) MP, / MP, el % |

(C) MP, /MP, 3Tafafd a3 |
(D) MP, / MP, ST 3 |

Given below are two statements:

Statement I : Social Welfare Function

(SWF) is a sort of social indifference

dp consisting of the Social

fference Curves (SICs) which

shows the various combination of

utilities that gives the same level of
Social Welfare (SW).

Statement II : Social Indifference Curves
(SICs) may not be convex or concave
to the origin.

In light of the above statements, choose the
most appropriate answer from the options
given below

(A) Both Statement I and Statement II are
correct.

(B) Both Statement I and Statement II are
incorrect.

©)

D)

Statement I is correct but Statement 11
1S 1ncorrect.

Statement [ is incorrect but Statement
11 is correct.

HYA 1 ¢ 9N hed0T B i (SWF) Th
TR <hT HTHTRSTER SeTEHdT AHres § ey
grioieh SerEiAdT ok (SICs) IMfHet & S
IUATTaTat < foftre ieHi o6t eoifar 8 St
?HWWWW(SW)W

|

A 11 : ISR 3SR 56 (SICs) Jed
o ToTq Ieraiet 1 et 121 &1 Hehd &l

YU AT oh 3Teleh H, i few Tu foepedt

T He 3T S G

(A) T 3R HH [ a1 2 |

(B) %o [ 3 e [[ gHI i # |

(C) FHITE R, AT [T 7 |

(D) [ TeAd 8, AT e [ Td e |



113.

114.

115.

116.

Which of the following two components is
used to measure the education index in the
HDI calculation? ﬁ
1. Adult Literacy Rate

2. Mean years of Schooling

3. Expected years of Schooling
4. Gross Enrolment Ratio
Choose the correct option :

EA% 1 and 3 ng 2 and 3

C) land4 D) 3and4

TIEISE TUET § e T oY %
foru fafaifiga @ @ fo @ et w1 3wEm
ERINIGIEK

1. e HIerar et

2. el fRred % sited o
3. Tl fuen = swferd o
4. Hehol TITeRA U

Tl fohed g:
(A) 133 (B) 233
(C) 13W4 (D) 3 3T 4

Which of the following is the characteristic

of Mercantilism ?

(A) Increasing
1mports.

(B) Free flow of goods and services.

(C) Means of production are owned by society.

D) No tax system
%ﬂ%@ﬁﬁgwaﬁwﬁﬁﬁw%?

(A) Tria sremT 37t 3T Tem

(B) HTeT 3R {13! ol Th JaTg

(C) 3ITET & | W TN 1 Wi
BATE |

(D) 1S T JTTeAt T8t

Dead weight loss is

(A) Loss of Consumer Surplus

(B) Producer Surplus

(C) Loss of consumer and producer surplus
(D) Consumer surplus + producer surplus

JEAG RS ?

exports and reducing

(C) TR 37 IcaTeeh TR T TohH
(D) ITRET AT + IcTeeh TR :
Which of the following components is not

included in Fiscal Deficit ?
(A) Interest Payment (B) Public Debt

C) Disinvestment (D) Non Tax Revenue
%\ﬂﬁf@ﬁ T | M 91 9eh TIhNF g H |
A T & 7
(A) IEYTTH  (B) HTesHeh 0l
(C) fafram (D) TR-aR ToTEd
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117.

118.

119.

| 120.

The Ricardian equivalence theory assumes
that-

(A) Consumers are myopic.
(B) Producers are forward looking.
(C) Consumers are forward looking.

(D) Government is earning more tax
revenue.

Teprfézm qoxran g wan 2 foh

(A) I99RT feheesfi # |

(B) 3cTeh M & |

(C) STHIeT e € |

(D) FhR 3Tk o Tored JAfld S W R |
The IS curve becomes vertical when

(A) Investment is interest rate elastic.

(B) Investment is interest rate inelastic.

(C) Investment is completely interest rate
inelastic.

(D) Investment is completely interest rate
elastic.

IS 93k Sead el gl STl & e
(A) T = et e 2l |
(B) a9 = @t SeiIeR & |
(C) e 4ff o & = X SR 7 |
(D) Trrer i g & = @ AEER A |

The problem of tragedy of commons is
related to-

(A) Public goods

(B) Private goods

(C) Club goods

(D) Common property resources
STERUT <hl ARG <hl THE bt Tefea & 7
(A) TrETe qME (B) s ame

(C) TS HTHAME (D) FH=I Gufy TeeH
Which of the following is incorrect about
Gender Inequality Index (GII) ?

(A) Reproductive health

(B) Empowerment

(C) Labour market

(D) Educational attainment

<ifieh  STEHMA gEsheh (GII) & s H

fefifad H AT e ?
(A) T @ERSE  (B) GIRAHTT
(C) SR (D) Toreq wifer

05 (Economics)



121.

122.

123.

124.

Kaldor’s model of economic growth is
based on which of the following approach ?

(A) Marshall’s tools of analysis
(B) Keynesian tools of analysis
(C) Hicksian tools of analysis
(D) Pigou’s tools of analysis

HASK o1 3TTRIeh foehtd 1 Afeet ffoaiRad
53 form oo w smemia & 7

(A) T o fergersor g

(B) hriamal fereetsur g

(C) el oo gt

(D) iy 1 fereie get

Who gave the relationship between growth
of government sector and economic
activities in industrializing nations ?

(A) Adolf Wagner

(B) Wiseman and Peacock hypothesis

(C) Samuelson hypothesis

(D) Richard Thaler’s hypothesis

3iEriichd TPl H TERRI & o foh™ 3R
TRfep Tifcfateret 3 e S fre & oft 7

(A) TSI TR

(B) dTESTHA 3T Wiehich TNehed T
(C) YTt IRt

(D) T=rg Ao it aitehedm

Two-part tariff extracts-
(A) Producer surplus

(B) Consumer surplus
(C) Government revenue
(D) Revenue of a firm

Q- R o fepreran 2 7

(A) ITCeh JRRY  (B) ST AR
(C) WHUTTE (D) B 1 ToTedl
The slowing inflation is known as-

(A) Reflation (B) Deflation
(C) Disinflation (D) Stagnation

e ggrehifer oI ShEard 8 7
(A) JeEhifa (B) 39ahifd
(C) feamfifa (D) ferm
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125.

L 126.

127.

128.

Match the items given in List-I with those
in List-1T :

List-I List-11
L People’s plan 1 1944-45
IL Sarvodaya Plan 2. 1944
III Bombay Plan 3. 1950
GandhianPlan 4. 1945
;ﬁ'ﬁ ~1 ¥ <) 7S we) <l -1 6 @ el |
[ESIEEAIE S
-1 -1
L ST Bt T 1. 1944-45
(S )
1. Gaied s 2. 1944
[1I. S8 ST 3. 1950
V. Ml IS 4. 1945
Codes/ahTE :

(A) 1-4,11-3,1I1-1,1V -2
(B) 1-4,11-3,1II- 2, IV -1
(C) 13,11 4 m-2,1vV -1
(D) 1-2,11-4,1I1-1,1IV-3

The theory of liquidity preference is
associated with-

(A) Determination of level of inflation.

(B) Determination of level of growth.

(C) Determination of level of money supply.
(D) Determination of level of interest rate.

AT e <1 firgr fored geftra 2 7
(A) gerehifa &R o1 freto

(B) Torehma T w1 feior

(C) Tz 3mYfd T 1 Ferfeor

(D) =TS & &R T e

The Fisher cash transaction equation is as
follows :

TSR Tehe e Ul 39 ThR 2
MV M

(A) P=T (B) K=ﬁ
I M

© V=1 (D) P=%t

According to Cambridge equation, the
value of money depends upon

(A) Demand for money

(B) Supply of money

(C) Demand for goods and services

(D) All of these

hiEsISl HHISRYT < 1A, 3T 1 Yool Fohd

R HaTe ?
(A) &AM (B) & <l g
(C) T TR T3t i 6t (D) 3 Tt



129.

130.

131.

The rational expectations hypothesis does
not imply
(A) People do not make systematic errors.

(B) On average the econorny will be close to |

Long-run Average Supply (LAS) Curve.
(C) Policy makers have better information
about the economy than other
economic actors.
(D) Macroeconomic policy changes must
come as a surprise in order to have an
_impact on the real economy

3T Tfered T 1 3T R & 7
(A) S e Ffea el i &I
(B) 3gad rdegeen deiafer  3ndd-
3Mgfd (LAS) a5k o e gt
(C) 31 ek weiant I gorn § Hifd
EEIGIE e misaawésaﬁﬁé%m
EIECAR RIS
(D) dTEdfaeh FISEEAT | Y9G SloH

foru smes 3nfdies fify § seoe T
TR o &9 H 3THT 1T |

The sampling distribution of mean based

on a sample of 13 units selected without
replacement shows a variance of 5 units. If |

the population consists of 49 units, estimate
the variance of the population.

iR % form =afia 13 9fEl % 73 %
HTYR T A 1 T fowor 5 gfel
WW%W&W]& 49 gfie &, A

JTSTE! o6 TG0 ShT ST T |
(A) 80.67 (B) 84.87
(C) 86.67 (D) 86.87

What is Currency Deposit Ratio (CDR)?

(A) Ratio of money held by the public in
currency to that of money held in bank
deposits.

(B) Ratio of money held by the public in

L 136.

bank deposits to that of money held by

public in currency.

(C) Ratio of money held in demand drafts to

that of money held in treasury bonds.
(D) None of these

T ST ST (SR R 7

(A) m‘g’m?ﬁr@mmmé@wﬁ

T g

(B) maméasamﬁr@m & T ST

BRI g1 H W& ¢ 94 & 39

(C) feare g9e ¥ uTitd &F o1 okl g o
T & &

. S
(D) 0 A HIE T
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132.

133.

134.

135.

Suppose, saving function is S = —200
+0.4Y, Investment Expenditure is 7,000.
Calculate the equilibrium level of income.
A ofifTe, s wed S = -200+0.4Y ¥,
e =1 7,000 & | 3 o Ao &R hl
TURT |

18,500 ng 18,000

A
é\(il 17,000 D) 18,300
o wrote the book ‘Capltahsm and

Freedom’?
A) Alfred Marshall (B) Milton Friedman
C M. Lewis

F.A. Hayek D

< U Shign’ g&deh fohe foralt 2 7
(A) IS TS
(C) Th.U. T

(B) fireed Wit
(D) . g&H
Present Discount Value is
(A) The current value of an expected
current cash flow.
(B) The current value of an expected
future cash flow.
(C) The future value of an expected
current cash flow.
(D) The future value of an expected future
cash flow.
FAHH T G T ?
(A) aﬁfmaﬁnﬂmmwaﬁwm{w
(B) 3Tufera WTelt ehdt YaTg o IaHM Jed
(C) STUTRAT SAH Tehe)! TaTE 1 WTel! Jodl
(D) 3TUfeTa W oGt JaTg < Wil Hodl
The total p ({)ulatlon of city 'X'in 2011 was
28 lakhs and the total number of live births
was 50 thousand. Find out crude birth rate
per 1000 population.
2011 ¥ T’ Wﬁww 28 < ot

3T Shfera <1 bt et T@n S0 &R | ufa
1000 SHEET TR T S hifT |
(A) 178.57 g ; 1.7857

(C) 17.857 D) 0.17857

Bimal Jalan committee was constituted to

review-

(A) agricultural distress in Indian economy

(B) recent economic slow down

(C) capital framework of RBI

(D) Non-Performing Assets of Public
Sector Banks

TopEht getert & fotu fomer S wfufa =61

T fepar TR o ?

(A) R STeee H iy Tehe

(B) Ifcr 3Teies wet

(C) STRSITS I USht @fal

(D) Gresieh & o sehl hl TR-TIsTied
. & <&
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137.

138.

139.

140.

Endogenous growth theory rejects which of
the following assumptlons ?

(A) Exogenous changes in consumption.
(B) Exogenous changes in technology.
(C) No changes in technology.

(D) No changes in consumption.

s foem gl oot & & Feg |

0T Shl FTTHT HIAT 8 ?
(A) 399 ¥ Sfstd gitecdH
(B) Wrenfireh & sfesia aftada
(C) Wrenfirehl o shIE seettd &l
(D) 379N H HIg SETE el

Contract curve shows the

(A) Desirable allocations of goods or inputs.
(B) Inefficient allocations of goods or inputs.
(C) Efficient distribution of income.

(D) Efficient allocations of goods or inputs.

Hfergr sk I gIAT ] 7
(A) IS AT $TYE 1 TS A

(B) HTeT 31 YL 3 TR T

(C) 3T 1 I forator

(D) WTeT 31 $YC 1 HITSA T

The impossibility trinity is the relation
between-

1. Independent monetary policy

2.  Free capital flows

3. Fixed exchange rate

4.  Floating exchange rate

Choose the correct option :

(A) 1,2,and3 (B) 2,3 and 4
(C) 1.3and4 (D) 1,3and2
mﬂam&ﬁﬁﬁsaﬁ%aﬁaww%?

. A Hifgss Aifd 2. g Oof vare
3‘ ferfatmma 4. TR fatmaw
‘EIT:?[%IWQ%[

(A) 1,2,3R3  (B) 2,33W4
(C) 1,334 (D) 1,332

Social Welfare function describes the well- ¢

being of-
(A) Societyasawhole (B) Producer only
(C) Consumeronly (D) Government
AT hedT0T HeAd fohteh Shodol <hl avh
AR ?

(A) THT TS
(C) harcT TR

(B) act 3cUTCH
(D) THR

05 (Economics)
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141.

142.

143.

The ‘Golden Rule Level of Capital’ refers to

(A) the steady state value of capital that
the steady state value of capital that
maximizes the consumption.

(C) the steady state value of capital that

(D) the steady state value of capital that

~ maximizes the growth.

TSt o1 g R @ AR A g ?

(B) STt =l fRR 1o Yoot S 3UHIT i
3Nferehad LT ¢ |

ORsika @R TR T A GEIEhIf ol

(D) ST = f@n I Yo S foeR
HAferhad AT R |

Which of the following are associated with

1. Bargaining without cost.

2. Mutual advantage.

3. Property rights are well defined.

Choose the correct option.

(A) 1,3and4 (B) 2,3and 4

(C) 3and4 (D) 1,2,3and4

1. ToFT AT < HiCETST T |

2. UREANEH M |

3. HUf o TR Tt aig TRITiya & |

minimizes the cost.
(B)
minimizes the inflation.
(A) ST o1 2R 3T 9ot STl SIFTd <hi ShH
AR |
& HLT
Coase Theorem?
4. Resulting outcome will be efficient.
FAgd A g S S I Y HERA 8 7
4. oftoTe gioms gHrE 81 |

gl forehed |
(A) 1,334 (B) 2,334
(C) 33W4 (D) 1,2, 334

Snob effect is related to-

(A) Positive network externality
(B) Diseconomies of scale

(C) Negative network externalities
(D) Economies of scope

e g Tohed Tefed & ?
(A) TR Jeeh SRl
(B) Y T STeTIHIRAT
(C) “TohRIcHe “eeeh STRIaTd
(D) S ht |TET



144.

145.

146.

The Sticky-Wage model shows the
(A) Real wages are sticky in the long run.

(B) Nominal wages are sticky in the short

run.
(C) Real wages are sticky in the short run.

(D) Nominal wages are sticky in the long
run.

feesht-at aiget o feran 8 7

(A) Sforeh Higl ol G H el 2T ST & |

(B) IFcqmEfy H AHAE hi Holgh et &l
SR |

(C) FcumEfy W ardfosh wogl fesht &
SR |

(D) R i TG S H feeet &
EiEN

The Principal Agent Problem is associated

with-

(A) Perfect competition

(B) Monopoly

(C) Information asymmetry

(D) Signalling

Toiferet woie T fored TEfa @ 7

(A) Fpisfoerl () TR

(C) SHehI fowmer (D) Hehad

What is meant by "Take off Stage" in an
economy?

(A) It means steady growth begins.
(B) It means economy is stagnant.
(C) It means all controls are removed.

| 149,

(D) It means economy is about to collapse.

Freferae 1 ek Ak W ol HA R ?
(A) THeh! Hefets & foh Taa b e e g |
(B) g8 Haos ¢ fop sreferemen fn 2 |

(C) 3EehI Helersl & fob wnft e e fow i & |

150.

(D) 39T HaeTd ® foh 3reiegemen o fivree

B AR |
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147.

148.

Which of the following statements are not
correct about Fiscal Responsibility and
Budget Management (FRBM) Act ?

(A) Mandates Central government to
reduce fiscal deficit up to 3% of the
GDP by 2009.

The task force committee headed by
Vijay Kelkar was constituted to
formulate the annual targets of fiscal
deficits.

The FRBM act provides greater
transparency in fiscal operations of
centre and states.

Mandate Central government to
reduce fiscal deficit up to 2.5 % of
GDP b% 2009.

Y HH A HUT TN
IR 3T §5ie 9aeH (FRBM) 31ferfay
HENH T TE & ?
(A) g THR I 2009 b TSN HTE
i Hehel BT 391G h 3% T A Hld
1 AR AT | .
(B) TSN ©1¢ o fteh I8 sl IR
i % foru foota herert i sregerar
m&ﬁmqﬁﬁﬁﬁww%mw

(©) FRBMmﬁawéasﬁtwasﬁ?ﬁa
TreTer | 31fereh TRERidT e i & |

(D) g THR sl 2009 b TSN HTe
I Hehel T 3E & 2.5% dh HH
T T AU AT 2 |

National Horticulture Mission (NHM) was
launched during the year of

TS SEHT iR (THu=ed) 5 e 9 &
S YR TR T o 7

(A) 2004-05 (B) 2003-04

(C) 2005-06 (D) 2002-03
Central Government Debt-GDP ratio in
2020-21 was

2020-21 H hg TWEHR H FRI-SEH

B)

©

(D)

ITITA feha o ?
(A) 49.1 (B) 59.3
(C) 59.0 (D) 46.2

The New Education Policy 2020, targeted
to increase gross enrolment ratio in higher

education to by year .
T f3rem ffa 2020 3= T31em A Hebet AR
ED) qeh TRt Iy b
ST TR |

(A) 100%, 2030
(C) 50%, 2035

(B) 60%,2035
(D) 100%, 2025

05 (Economics)





